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Exercise 1: Rearrange the following sentences to form a complete paragraph.

The Indian Constitution (A) adopts universal adult franchise (B) and the
state legislative assemblies (C) as a basis of (D) elections to the Lok Sabha.

1.

Options:

ADBC1.
CADB2.
ADCB3.
CABD4.
No arrangement required5.

Correct Answer: 2. CADB

2. The expansion of (A) private-sector space activities (B) is significantly
changing the dynamics (C) of space exploration and utilization (D) in the field.

Options:

CABD1.
BADC2.
BACD3.
CADB4.
No arrangement required5.

Correct Answer: 4. CADB
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Exercise 1: Rearrange the following sentences to form a complete paragraph.
 
  3.  In the first years of his reign, Asoka was an autocrat. (P) He was successful
but thousands were slain in the battle. (Q) About the ninth year he decided to
conquer Kalinga. (R) The effect over the slaughter on his mind was profound.
(S) This caused a sudden change of his heart.

Options:

 PQRS1.
QPSR2.
RQPS3.
SRQP4.

Correct Answer: 3. RQPS

4. We should plan our leisure carefully. (P) The activity we choose should make
us happy. (Q) We should choose some interesting and useful activity. (R) It
should increase our confidence. (C) We should then work at it during our
leisure.
Options:

 PQRS1.
QRSP2.
RQPS3.
SPQR4.

Correct Answer: 2. QRSP
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